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C-177

B.Sc/B.ComJ/B.Sc. (Home Science) (1) / B.Sc. (Bio-Technology) (n/
B.B.A./B.C.A./ B.F.A. (Part-I) Examination, 2019
ELEMENTARY COMPUTER
(Compulsory)

Time allowed : Two hours

Maximum Marks : 100

Important Instructions

vt frdw

Attemprt all questions. Each question carries I mark. Questions have been set in English,
Hindi translation is being given for the convenience of students. Candidates have to write
correct answer (A) or (B) or (C) or (D) in the space provided against the questions on OMR
answer-sheel.
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I, Vacuum tube Was used in

A - .\(A) - ficst gel‘lt‘l‘:iliun (13) second generation
(C) third gencration (D) fourth generatioy
AeRq o 1 T4 B U1

@ ywdAE @) R © MR () Gepe s

2. Storage unit is used to
N (A)- “store data (B) input data (C) process data

et e 1 A B
(A) SAWE@FANB) SRHFRFAA (C) TAMMHFAF (py w0 7

(D) None of these

3. Full form of VGA is

/ .«./( AY V?deo Graphic Adap}cr (B) Virtual Graphic Adapter

(C) Video Graph Analysis (D) Nonc of these
VGA FT U AW &

=

E; (A) fatsa i wemey (B) TH37et Mk wRe

lg © fafen ms enfefie (D) T AP I

£ :

= Aﬂ. of dots available on screen are called  http://www.mgsuonline.com

W

. (A) Pixels ~{B)” Resolution (C) VGA (D) Tube
’:'g aﬁamwﬁaﬁaﬁﬁgﬁﬁ@ﬁmﬁ% |
=R GV B) Rl © e (D) =@
= ’ .
o 5, MICRis an | |
’;‘ (A) storage device N (B) output device
. (&)~ "input device ) (D) pointing device
MICR 3% '
A) RiEfage  (B) smefiamE () TR feanw (D) N Rarw
~ CRTisa o .

(A) Printer '(B) 'Plotter = (C) Cleaner (DY Monitor

CRT 3T e |

A B) @ () W (D) Tt

_\}AOM is a part of o
secondary memory . ~(B)  input device
(C) output device o (D) primary memory
ROM TR |
) TmE B) FRREE () e Reme (D) b i
C-177 ' o
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N ,,-8'."’#-.PDOC is an extension of
¢A)y "MS Word (B) MS Excel (C) PowerPoint (D) None of these
DOC fFas Wadym R 7
(A) T, 9 (B) W.WH. TS0 (C) wrawise (D) FHAPETE
§ 9. Google is a/an
(A) Website (B) Browser , (C) SearchEngine (D) E-mail
T R
(A) qEHR (B) FEW © T (D) -39
107 E}oal Seak is a part of
(A) MS Word (B) MS Excel /cy-'websue (D) PowerPoint
et Hie frwe o e ® 7
A) TWE (B WEWE  (C) W (D) eI
gt " A Byte is a collection of
¢’ (A) 6 Dbits (B) 4 hbits (C) 2bits ,JDa/bIEne of these
T W15 T8 ¢ |

http://www.mgsuonline.com

(A) 6 Tm (B) 4fwma ) 2faz@= (D) i F o A

USB stands for

\/12.
. (A) Unified Serial Bus /(E({vamal Serial Bus
(C) University Serial Bus (D) Ultimate Serial Bus
4,18, 1. &1 o §
(A) IS Hife w1 @ FhwE e
(©) A e (D) e Hifwe =
1 ‘{;';'i;ich of the following is spread sheet program ?
(A) Lotus 1-2-3 A Microsoft Excel
(C) Visicalc (D) All of these
ey en @ Aefie Tom § ?
(A) .ahza 1-2-3._ ® mﬁmqa@%a ©) sl (D) u;mﬂ
(/14/Da£abase 1sagroup of - B ok
(A) Data - 3 w0 {(B) Record
(C) File R B L}D)/ All of these
i (A) SR e (B) f’mﬁ (O ERE D) =@

o http://www.rﬁ'g.sulonline;com
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15.  Which of the following is not an output device ?

(M) Screen (B) Plotter (C) ' Scanner (D) None of these
" frey § @l W Y feaa @i R 7
) whm (B) et (© W (D) wHABE T
16. The full form of IS.P is
(A) Internct Scn"lce Producer (B) Intemmational Service Provider
(C) Internet Saving Product . Jp}*"[ntemet Service Provider
1SP &1 faem B
(A) ““uﬁ“ SR (B) mﬁmnﬁqg}m
(©) mﬂﬁﬂﬁzﬁz (D) mz "HH'H
P | BIEIER
17/ MODEM is used for
o (A) changes digital signal into analog signal

(B) changes analog signal into digital signal
.(@y Both of these
(D) None of these
wieq 3 & 3 8
(A) mmﬁwmﬁm%m ]
(B) et et i e e & wge  fomy |

wod-durjuonssuwr mmm//:dyy

(€) Il A
(D) THAFE T
18 ich of the following provide benefits in geo-fencing, map-making and surveying ?
(A) Expertsystem (B) SMS (C) TCP l/ﬂ;}]""GPS
Prafefes § & 2 ot R -BRim, Term w10 oo wdgor i o vem s d 2
(A) R iRy (B) W, (C) d.d4, (D) sf.dim.
QAS stands for
(A) Global Power System (B) Global Public Supplier
Global Positioning System (D) Guide Position System
EIRIRCRE S G E ek
A) wewaw e (B) et SRR AR
(C) ' veitere it fireer Dy TS R e

\Mrocess through which we can send .data in co'mputer is called

(A) output process o : (B) storage

O—input . ! .
wmmmmwﬁmmi, (D) P%Dneéfthese
B TEEIE @ o ©) AR T
C177

8

| http://WWw.mgSu_online.com

WO dujuonssw mmam//:dyy



wod-durjuonssuwr mmm//:dyy

http://www.mgsuonline.com

2]. -”Iii’icmrc_lcr is afan

. (A Janguage translator
(C)  application softwae
Ferler g U
(A) NI AT
(C) Ul whRAu

22~ Dot matrix is u type of
L(B) Printer

(A) Tape |
AR wmwwEnd
(A) 2 M) R

23. Full formof ALU is:

(A)  Arithmetic Logic Unit

(C)  Arithmetic Logical Unitorm
T, U, Y, 1AW R

(A) fhfes wifes gfe

() finfew wifrra gRwhi

o)a:/ What is a light pen ?

(A) Mechanical input device
(C) Mechanical output device
TR AT RIR ?

(A) AFRewe Fye fama

(C) Bhfreret aaeye fsary

2577 First low level language is

(1
(m

()
(1

()

()

()
\ i)

)
(D)

LAB)Y

(D)

()
()

NYHICHT SO Twi e
upernthing syxem

fraen abwdm
SR R

Disk (M s
fen (A
Avithmetic Logieal Vnit

Nuone of these

SIPIAR aiffornet 9
il 0 g gl

Optical input device
Optical output device

aiffeQsiet g faaimt
et onderge gy

(A) FORTRAN  (B) COBOL \ (©) " PASCAL (1) None of these
w2 fret iy v 8 ’
(A) HIEH (B) HEw (C) R (1) Fi Qs ol
26. Logic gate AND is represented by :
A Ay (B) + ©) / W
" aifdE afwy AND () %) fre R A el wr & 7
(A) * (B) + <) / ()
M / radix of decimal number systemis:
(A) 2 (B) 10 Oy 8 M 16
St e Rreen w1 A (anur) / s W R 7
(A) 2 (B) 10 (C}_ 8 (M 1o
C177 5
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. A8 symbols are used in binary number systent.

YA 2 (B) 16 C) 8
o fuml ot R fivem o smn 3 §
(A 2 B) 16 () 8
. 29, Cbnvcrt 63Ne=C ) -
(A) 63 (B 77 (C) 67
qefer (63),,=( g -
(A) 63 (B) 77 (C) 67
30, (541) is represented in hexadecimal as
(A) 168 _(B)161 (C) 262
(541) 1 RTESRITE T ]
(A) 168 (B) 161 ' ©) 262
31. {?#}wis represented in octq’l._as T
(A) 3502 _(B) 3501 ©) 3504
(744), , T IS HH 2
(A) 3502 (B) 3501 (C) .3504

32, (1000),=(M;p http://www.mgsuonline.com

(A) 4 /B 10 ). 8
(1000), = ("),
(A) 4 : (B) 10 € 38

33.  The number 10002 is equivalent to decimal number :

(A) 1000 {B) 8 © 4
Sefiwet 37 1000, 2
(A) 1000 (B) 8 (C) 4

%)

34. /Grouping of bits in octal coding involves : )
(A) 5's @) 7's © #s
FiRawfd e magdmg . &

(A) 5's By Ts o (© 4s

35. Convert (3B6) 4 to (.?)m - . _I
(A) 925 - ) 950 (€) 720
GBE) ()l
@A) 925 - (B) 950 € 720

c177 | |

' 6
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(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

100

100

194

194

3503

3503

16

16

3's

052

952
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36.

37, (1101101),= (),
(A) 155 (B) 257 (C) 241 (D) 262
(l][‘.ll][)l)2=(?)3 : -
(A} 155 (B) 257 (€) 241 (D) 262
,38/ Computer is a/an |
- (A) Operating system (B) Input device
(C) Monitor . (D)~Electronic device
HEIITH
(A) RfET Ry | (B) %qe feamsa? |
= (C) Wi E | - (D) soiwe feaa g |
=
o /_,/ _
= 397 Which language is used to create web pages 7 P , .
ék/ (A) COBOL (B) C#++ | cy” HTML (D) BASIC
= éafmaﬁammﬁ%%mﬁmwmm AR 7
] (A). COBOL (B) C++ (C) HTML (D) BASIC
wn ___,.-"‘ "
= . o _
g 40.” Physical or logical arrangement of network is : ‘
=" _(A)" Topology (B) Routing
@ (C) Networking (D) None of these
S J29% H Physical or Logical ﬁFﬂTH%
= (A) i (B) UM
(C) Yeafd (D) FH BB E
. Expand WAN -
—* (A) World Area Network i_~{B) Wide Area Network
(C) Web Area Network (D) None of these
31 (WAN) 2 o
“Wide ‘Area Network -~ "~
(A) World Area Network (B) “Wide-Area
(C) Web Area Network ) ¥ AHE &
) Which topology of LAN uses circuit swuchmg‘? o S
\/?f’mng : (B) - Tree. . - (C) Star | (D) None of these
ﬂ?"c‘ﬁ@mﬁﬁ‘?LANﬁC:rcmtSwﬂchmgﬁT@ﬂﬁ'(?ﬁ%? , . ﬁ@iq‘é’f
wwm o ®d o O FR (D) T
' IR g T.0.
C-177 ' o ot 7 P
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(267)10=(h

(A) (10111111), J.(B)“"'(IIOIIIUI)z (C) (100001011), (D) (1111111,

(267),0= ("

(A) (10111111),  (B) (11011101);  (C) 100001011y, (D) (1L1LL11),

" h’:[tp.://www.mgsuoﬁline.com
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*
ra

43 7 Syﬁtcm call routines of operating system pre mostly written in : -

o

/ P -7 {B) C++ {C) %:1\';1 V’fD) Hﬂth (A)‘ & (ﬂ)
- :mlﬂ:ﬁﬂ fawen 1 Riren wia 8 Figm faa It
(A) C (B) C++ (C) Java (D) A (A) 3 (B)
a4~ ﬁ)r communiCd‘ion. operating system moves : T
A" (A) prﬂceﬂ%‘q (B) packets _{€)y programs (D) Both(A) & (B)
4 R R @ F g
(A) WAE (B) e (€) YoM (D) 2R (A) A (B)
/45,/E|f;c:romc digital circuits are also called a5 - .
(A) Switching algebra B)" Logic circuits
(C) Binary circuit (D) Binary algebra
fefiree wfhe =1 o ¥fi vga & |

(A) fefmTm  (B) AhmEE () TEERe (D) @R o
= \1
"' 46. ,wh -of the following is not a guided transmission line 9

= {

= (A Twisted pair _(B).. Coaxial cable (C) Optical fib D ser b

1 ‘aﬁqﬁﬁaﬁqm e A p ibre (D) Laser beam

é (A) Refzt®@  (B) ﬂ%@m%ﬂa (C) ARFAwER (D) oy

= _

5 47 e communication protocol used by Internet is :

g (A) HTTP (BJ.-e—WWW (C) TCp/P (D) FTP

5 m%mmﬁmaﬁwm@%&nm%

=3 (A) HTTP (B) Www (C) TCpApP (D) FTP

= ' ‘i o :

= . _

g\ﬂi‘i};i/cbaf the following represents one billion characters ?

= Terabyte (B) Kilobyte (C) Megabyte D i

= gaoy (D) Gigabyte
i A em 1 fufermm wtve = wefife s 2 G

(A) TERL (B) freiamse (C) e (D) firmame

}9/ Processcd data is called

(A -Database (B) File (C) Information (D) Sam
_ ple
TR FEa &
(A) %a%a B TR (© m‘ﬂﬂm (D) Jwe
L}“”Buymg and selling the products over electronic system like internet is called
(A) " Online shopping - . - (B) Net Banking
-commerce (D) Digital Marketing
T S Intemetqtiﬂﬁﬁﬂﬁl aﬂtﬁ'ﬂﬂl T
(A)  Online Shopping o B) Net Banking
(v} ECummercc N y g

(D) Digital Marketing
8

C-177
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51. - Linux is — Operating system. {

( A-}"'Epcn source (B) microsoft (C) windows (D) E}I(;C
Linux AR frem R |
(A) T (B) WIEFIGE ©) few D) %
527 ﬁcéently deleted files are 5torcd in:
" ._’(A}*‘ Recycle bin (B) Desktop (C) Taskbar (D) My Computer
Recently deleted B39 @R B 2

(A) Pemfeefad () Fewciud © TwaF  (p) wEwEH

53.- What did second generation computers use for circuity ?
" (A) Transistor (B) Vacuum tubes >~
(C) “Tntegrated circuit (D) Microprocessor™~

%wzaﬂma%ammﬂammm%ﬁ%qmwm@wméé?
(A) TR (B) wm = (c;_saaagu%@ (D) TTHRINAET

4. BCDis: http://www.mgsuonline.com

_-(A) Binary Coded Decimal (B) Bit Coded Decimal
(C) Binary Coded Digit (D) Bit Coded Digit
BCD %

(A) Binary Coded Decimal S (B) Bit Coded Decimal
(C) Binary Coded Digit (D) Bit Coded Digit

' _,5-5/T o0 access mail user needs to download email from the :
_(A) ~“Mail Box (B) Mail server (C©) Mail Host (D) Internet

* ot e ¥ Rore 7o A §- e wreTeite O B 2 |
(A) AT (B) A@ERA - () WIRH (D) TR

ﬂich one of the following is not a search engine ?
(A) Bing (B) Google (©) Yahoo (D)} Windows

: uu):}‘augluonsﬁurmmmy/:dnq
WO dujuonssw mmam//:dyy

Padasnad it ?
@ @ T - © =rr§ O fiEs
\/ﬂmuemet was ongmallyapmjcctof wlnch agency ? | . |
)"ARPA ®B) NSF - (© .NSA (D) None of these
Jsgﬁzmﬁﬁamwaﬁﬁm ? - ‘
(A) ARPA . . (® NSF .
© NSA oo ® sﬂﬁﬁﬂﬁé?ﬁ
cirr RS ;_¢ e | _P.T.0.

http://www.mgsuonline.com
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e . - 17
" How many scrollbars does a window have in gen::l'ﬂ
\/58 ( ;)\i ; | ®) 2 ) 3 (D) 4
\ e i T FeFET foper wver R T R 7
(A) 1 B) 2 © 3 @
th slmﬂcutk that appear on the desktop gre called
> /A(TA; Image (B) My document L_’,(.C)/Ic"“ (D) My computer
Desktop T shortcuts =
) o @) MR  (©) IEM (D) 1% HPAR
60”“"0 can insert @ page number at : e
~" (A) H.eader (B) Footer .§C) Both (A)&(B) (D) None
2% 1 G 3T Wt § - -
(A) Header ¥ (B) Footer © WA M@)F (D) *ETE
61-,-‘-""_ﬁ'lfeldcfﬂlllt value of “position” attributes is
—"  (A) fixed \ (B). -absolute (C) inherit D) relative
E: e G h iswre sy 4 ®
? (A) Fixed (B) Absolute (C) Inherit (D) Relative
el
é 62.' Example of super computer is : -
Co” (A) DEC (B) CRAY-2 (e IBM 3000 (D) PC-AT |
= O FHIE T IR ;
g EA) DEC © . (B) CRAY-2" (C) IBM 3000 (D) PC-AT
g ) ‘_ﬁ.(ii‘ Main memory is :
;g,f“ \“((g;;nl;u(le) & (B) non-volatile
o oth (A B) (D) None of these
= B T et 2
(A) SERH (B) A-alerRA
© (&) 3R @) (D) FHAHH
54 i The example of GUI is
g A)~ Wind
E} I}mm Ows A (B) DOS (©) Both(A)&(B) (D) None of these
(A) fEw (B) =
© (A) 3 B) (D) ¥ &R

\ﬁ/\vhich one of the following is window accessory ?

(A) MS Excel (B) Paint
Foidsndfid@uit s

(A) MSExcel ** (B Paint’/ -

: I/'I'nternet Explorer (D) Games

L ©
10 -

Internet Explorer (D\) Games:

http://wwﬁ.'mgsuonline.com
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66.,AVWW stapds for . -
\.(A.Y'“'World Wide Web (B) World Wide World
(C) Web Wide World (D) Web Wide Web
WWW  ared 2

(A) rﬁéméa (B) TRARTE (C) J}agedd . (p) IR dW

67, /ln HTML which tag is used to display the picture ¢ -

-_/’ (A) Picture (B) Image (v Img (D) Src
HTML 3 317 & weli 3 gt 2 7
(A) Picture (B} Image (C) Img (D) Src
68.. fWhnch of the following is not a table related tag ?
~ \(AY <Table> (B) <TD>
(C) '<TR> (D) None of these
P 2 3 0 3 Y @ R T 2
(A) <Table> (B) <ID>
© <TR> (D) T AHEE
69, Symbol used in e-mail addresses ; , :
\,(k)’" @ (B) $ © : D) &
FeEEitwdme: | | o
(A) @ (B) § < : D) &
ill}r/[’J;L refers 1o :
“Universal Resource Locator (B) University Resource Locator
(©) Upiversal Relation Locator (D) None of these
URL & «reed &
(A) I ferd S (B) e e s
© Fade fom A (D) FHIAFPE |
/71/ Which of the following is not the type of ROM ? P -
" (A) PROM (B) EPROM (Er RROM - (D) :EEPROM
Ped 3 PR mROM TR TR ¢
(A) PROM_ .~ (B).EPROM ' (O RROM. . (D) EEPROM
' V‘I]/ Shonkey for help is - - -
(A) F2 . (B) FT (C) F3 oy 1
wnremay - er L)D)’ FL
@&y R (B)' F7 -. . :
Carr : ) . 11(C} e ®

. : P.T.O.
http://www.mgsuonline.com |
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Which of the $0)leawing v pit the ty vy off Ygie g
//.r; HOP ,}'9/ SOH y OK ([j;/ AAND

[] [P ) - e _
Sz 510 W W) o, TR SEY IM Y

(hy ASOF (33 NOR " NHK (T3; KAND
P
Mich ufthe § ‘Merwing iv 5 prainting device ?
(A Keybiustd =___£Br‘*1'-?fme (C)  Memivyr (f3; CPC
frs 88 A g o e 4 4 |
(hy FFE ) WA (C) =i D; FE3

»J‘f/‘iT'i l% £n e, a.l’ﬁ")!"' qf ; !-1!, h t;/f f,f 'f.f;l{ 1(1’2

(A} Prrg Wipastogy (B Bus voprfogy

r 3:4""’1,!'4: LY ‘M Mesh wosioey
s E b esi Wrlaiog
hl vi ”' g J"Ii3i3 l"; Fj?’:“"" '? I

(hy TR By wmirhees (C) =wimmidi (D) Emoeeid
=
=
T 76, Inwhich year E-cash started 7
s (1994 By 2% ] 1974 (D) 19%4
é —73-:;; I 7! mm% ) :’
E;ES«: (A} 1994 (B) 2005 (Cy) 1974 MD; 1924
o
=
S T7. Which of the following is not related to electronic payment system ?
..z":‘. (A) E-Cash (B) INetwork Banking
2 Chf,qu, (D) Allofthese
% mnﬁﬁmwmqwqm
(A) 2-%3 (B) 75540 C) =% (D; .F2H4]
) }/Which protocol is used ) send the data on intemet safety 2
() f;wrp - By HTTPS (C) HTTP (D} TCPAP
R AR 2 A SO T A As A S 2 7
Ay SMTP (B) HTTPS (Cy HTTP (Dy TCP/IP
j/H'ITP stands for -
- (A) Hypa"l'ransfer’l’ext Prowcol _,—FBJ’Tiyper Text Transfer Protocol
iy Hex_agonal Texz ’I'ransfer Pmmcol

(D) Hexagonal Text Transf
HTTP 3 e ansfer Prototype

(A} m?mwzanm .
(Cy MWWW
o1

(B) BN T2 IR Hroris
(D) THEPIEE Rz v
iy 12

- "‘httj;:Wwﬁfw;lfngs'uonline.com
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CD - ROM stands for
/0 (A) Compactable Read Only Memory BT ¢ _Compact Data Read Only Memary
(C) Compactable Disk Read Only Memory /-Q} “Compact Disk Reag Only Memory

Tﬁ :‘:ﬁ-ﬂq EET m .% S
(A) FiwEe 08 afweh agrh (B) e 2 73 e enfy
(C) FildRad f3Er g it 2 (D) =R f2op iz smeh
81~ The word ‘computer’ origin from :

- (A) Latin (B) English

(&)Y Greck (D) None of these
FIYR T R
(A) @A (B) 3 ©) *rF (D) ZHH AT TH

82, Which of the following is not CSS ?

{4) Internal (B) External (€), Embedded ))1’ Form
’ FRCSSHIWHRTE 8 :

,
Y

uu):}‘augluonsﬁurmmm,f/:g\lnq

(A) T (B) T © T3 (D)
BIOS (Basic Input Output System) is stored in which location ?
(A) RAM B ROM (C) CPU (D) HDD
it 317$ 3N T (I T eeye fawem) wEI R AR 7
(A) W (B) W © Hdig (D) @A
mstands for :
Liquid Crystal Display (B) Link Crystal Disk
(C) Linear Crystal Display (D) Liquid Crystal Disk
LCD 9 a4 2
(A) Tafirs firee feemt (B) Tl et oo
©) Fafrm firee oot , (D) fofies frea e
857 Which of the following is Logic Gate ? .
L/(A)"QR Gate (B) SOR Gate (C) DOR Gate (D) None of these
ﬁwﬁ%ﬁqmaﬁaﬁﬁz%? | | IR
(A). OR Gate .~ . _(B) SORGate
(© DORGae (D) wHAPETE |
c177 T T T e . p1o.

http://www.mgsuonline.com
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,Firsl screcn Of the system is known as ;
-L,.(A,/’ﬁ;aktﬁp (B) Streen (C) LCD (D) LED
e A U SR e B
@ e (B) ®hH (©) LCD (D) LED
877 Opcntmg System is a/fan
e (A) Applﬂ-ﬂts'uz‘l Software (B) Hardware
(C) {S}rﬂbln ottware (D] . L'ﬂ“gllﬂge
\-sivithen R B &
(A) TSI Wiweder (B) T
() T AR D)
88 IC is nsed In ———— generation of computers.
— (A) 1:1generauon (B) 2114 gcnemﬁon
@)/3 generation (D) None of these
g Ay wHE | ® ffad
: © Wm (D) FHARE
f w§9:""ﬁetsggpe Navigator is
Ug' .. (A)" Browser _ . }B" Operating System
g .H.ardware. o -~ (D). System Software
=5 (A) TS - (B) IfETRrm () TEEm (D) Trew wiwEm
o -
% ‘ 9{):’°/Which memory is fast 7 http://www.mgsuonline.com
(A) RAM | (B) ROM
(C) Hard Disk Lp}"tache Memory
fadasmfimiered ¢ o
(A) w (B) fm ©) TR (D) F=A
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key 1s used to see slide i in MS PowerPpint,

\/II ;g ' (B) F3 . A F6 (D) F5

___gaﬁmm’m MS PcwerPomtﬁ'&Flﬁg e 3 Sy frn S R |

&) R .' - (B) B '_ © F6 (D) Fs

Only one statement can be converted and executed at one time by:

(A) ‘Compiler (B) Interpreter (C)y~ Converter (D) Instructor
%m@mﬁaﬁamﬁ@zﬁz 53 U4 LS BT R | B

(A) Compller - (B) lnterpreter ' JQ)"’Converter (D) Instructor

http /waw m&,suonlme éom
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3/-6:3 command
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is used to increase the font size.

(A) Cul+D (B) Curl+Shift+P (C) Cul+] (DY Ctrl + D+ [
TRt __ sz dad
(A) Cui+D (B) Ctrl+ Shift+P (C) Cul+] @) Cul+D+{
94~ What is the full form of Telenet ?
v (A) Networking over the telephone (B) Conferencing over the telephone
(C) Telephone Network .(D)-"None of these
e FT AW & )
(A) Yeafm AR 3 e (B) FHHUN M E THHA
(C) ETHH TaH ©) FEIFET
95, ”fvmch kevs of the keyboard will be used to cut the selected text ?
(A) Cul+A (B) Cul+0O (©-Cul+X (D) Cul+S
Fawe 5 M TR =) $ofivew 1 e SR aFien ? |
(A) Cul+A (B) Ctrl+0 (€ Cul+X (D) Cul+3S
jﬁ'././h;B is an extension of : _ e
(A) Excel (B) Word (C) PowerPoint (D).—mccess
.MDB U#&H 8 ‘ i
(A) TS (B) T (C) W@ H (D) TEE S
Clock speed is measured in :

wod-durjuonssuwr mmm//:dyy

(A) Tera Hertz (TH) (B) Mega Hertz (C) GigaHertz _(D¥y Kilo Herz
TP wdte ardi IR & u L
(A) JEaH (B) ¥ME=H () TMEIAA (D) Tearzimd

WO dujuonssw mmam//:dyy

(‘/8./ Thc function of Ctr]l + Alt + Del command is to -

(A) OPEN ~ (B) RUN (C) CLOSE (DY REBOOT
Ctrl + Alt + Del FHIS FFYX @ g | -
(A) 3T B) W (C) FW (D) T

_/{The file name in windows can be given in how many letters ? o
(A) 8letters ~  (B) 10letters (C) 25lemers (DY 255 letters
2w & ere w1 T fFR s R aEm e ? . | | |

(A) 8 3Erdi T (B)_- meqtﬂﬁaﬁ.f ©). zsamt’maa . (D) - 255 U TH

100. The developer of Boolean Algebrai is :

(A) BillGates - (B) Charles Babbage (C) Lady Eda AD) George Boole

gform wom  fEEai R V€

A Rz ®) msaaa L © W@ (D) S
Carr | e -- |
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